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General Instructions :
(1) All questions are compulsory.

(i1)  There are 24 questions in all.
(11t) Marks for each question are indicated against it.

(iv) Questions No. 1 to 5 are Very Short Answer type questions, carrying

1 mark each.
(V) Questions No. 6 to 10 are Short Answer type questions, carrying 2 marks each.

(vi) Questions No. 11 to 17 are Long Answer type — I questions, carrying 3 marks

each.

(vit) Questions No. 18 to 21 are Long Answer type — II questions, carrying 4 marks

each.
(viit) Questions No. 22 to 24 are Essay type questions, carrying 6 marks each.

(ix) Answers should be brief and to the point.
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PART A

3G YT 4 1 37 It 5 Y97 8 | 57 Y341 T I U Jed & U JiaT 4 v |

This part contains 5 questions carrying 1 mark each. Answers to these questions
should be from one word to one sentence.

1. GHTILOT Ta9cAyur hT R 37 2 2 1
AT
qaYadd hT =T Y 2 ? 1
What is meant by ‘environment analysis’ ?
OR

What 1s meant by ‘innovation’ ?

2.  TohEl @134 o [T “3TATS HEwqul &1 & ? 1

HAAT

Teh SUS/SITUS A8 b fofereh &M <= JgH bl S ATy 2 1

Why is ‘tagline” important for an organization ?

OR
Why should brand/brand name be given legal protection ?

3. e w1 W feifHee’ 4 19 | W 3T U o forhed & &9 | fafys w@ral 4 &
Q9 ol T&qd ToRaT dfeh fidel U ohl Ueh Ty foreheq feam 511 & |
I gRT HaTd Hed & YR hl YA hIfT | 1

‘F1tNsure Ltd.” introduced an alternate to aerated drinks in the form of

soya milk with different flavours in order to give a healthy option for soft

drink.
Identify the type of added value by the company.

4. To<fiT yauq & foheai a1 329 A1 3IgW hifaT | 1

State any two objectives of financial management.
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5. 39 falre fodfi geum 6l qgam v 58 ardiE e s sl qui @i
JTelt HE o B9 U TG R =T 9971 39 9YRA ° IUN i ATafees fod
Y i ATl =g TEIH HET ATl 8 | 1

Identify this specialized financial institution that was established as a
wholly owned subsidiary of the Reserve Bank of India and 1s regarded as
the apex institution for term finance of industries in India.

AT A
PART B

$H YT T 2 3% JIci 5 Y97 & | 37 Y971 &7 3 50 @ 75 Jsc] 7 5w |

This part contains 5 questions carrying 2 marks each. Answers to these questions
should be in 50 to 75 words.

6. OO &F o Uh @Id o ®Y H Ha1-&A-[G=RI i THSATST | 2
HAJT
IR &5 % U Gld & €9 H SS-HaTfcld fo=il i THSET | 2
Explain ‘Service-sector-ideas’ as a source of ‘idea field’.
OR

Explain ‘Market-driven ideas’ as a source of ‘idea field’.

7.  HGl 1 UH-haARIIUl i Tl WM, 9 A | Afdih gig 1 Frgan o |
3%h FRL THA 3G A I hal UVl o & H T AR o S H HieH & [oTT
$gl | TST TWHR 4 FURME 1 =Ad9 3IGd HiH adl [EhlS (ahrd ol

ckTigd i dTct TohaHI a1 UYURR bl 3R (AfedEl) < shi =wom i |
Teh fod Jd TR TIHT 2fHeh GHRER-YT 96 &1 91, 394 ohed O 9T THebleH
Il HIMH, TEehT JaTed 3T 9 iz Wi 373 HIHTR HL Hehal & dadT
T R AThdH IcTTeT HIdl 8, o (999 H YT | ohel o a4 H, 8 &l
Ueh+ oh UTETd HTHTRIG: %eh QHT ST &, 384 9N Heble @ 17T 39 O3fla &
3 bl THui fofam | 39 9/ 1 39 R o U dAR SR 8 Sl T8 il hl
HATITIRATA oh TTEY GATI-EAH HIST TR Hd & |

39 dlteh <hl U8 <hIfNU fSeE R 3 SR shl 3TTa9ehdl shl THET dAT 39 I
R TRt | 2
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Ramaya, a banana planter from Madurai, wanted to supplement his
income. His friend, Shekhar, who 1s a weaver suggested him to think of
the scope of ancillarisation in banana plantation. The State Government
announced subsidies to those farmers and planters who minimise the
waste production and promote sustainable development. One day while
Ramaya was going through the local daily newspaper, he read about
banana fiber extracting machine which can be easily operated by
unskilled workers and gives maximum output of fibers. He decided to buy
the machine for extracting fibers from banana stem which 1s generally
thrown away after the fruits are reaped. This fiber has a ready market
with weavers who are making eco-friendly fabrics as required by the
young generation.

Identify the way in which Ramaya understood the need of the market
and worked on it.

8.  3Mddd ol YHIGH HAISH ohl Teh Hawdqul dwel SI1 HIHT1 ST & ? 2
YT

I8 F1_hal Sdl & fh JETed Haed AT HIS il bl FiHfTaa hidT
2 ? 2

Why is ‘follow-up’ regarded as an important element of operational plan ?

OR
Why 1s it said that operational plan ensures ‘work your plan’ ?

9.  Torell @A o U U1 1 Yo @A AR &1 1 GoiH hH Hidl 8 ? 2

How does ‘Porter’s value chain’ create competitive advantage for an

organization ?

10. U9 Th AId YoHlcHS Aith g S gHYN UH FIYddd 3Icqgl adT I3l T
HFT R 8 S BEI-U8d hl WEJ dAT Wed S| 8 | U Tsh U
TIR-HSII TSTed foham oA ga1 g A ohl H3MA A=aidigd off | ileh 39
fohdl ek § <hlg Torcila EgRAT UTH &1 g3 3Ad: I8 Ueh SIRgH Yl T i
ITefl BH THaT 9 | GFqeh TohaT | BTctlich a1 ¢ 9 o= sl q8g fohal Ui
30 s feafd (FifST @) | Tea i T8l i O 741 L TedT AR el
foh Il 39 qEL SR H o< <hl 3TTaTIhdl Bl A1 98 Q& H¥eh €ATUd L |
fraf 9 3 e §Sft @7 % forw & 7 foren, Safs o' gt g fou fog
o % fou Sam o 2 TmemsT | 2
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Raghav 1s a very creative person and has always been working on
innovating products and services that can make the living healthy and
hygienic. He developed a design for an air-conditioner with an inbuilt air
purifier. Since he did not get any financial support from any bank, he
approached Nirvana Vent, a venture capitalist firm. Though Nirvana
Vent liked the 1dea but it refused to help Raghav at the seeding stage and
asked him to come again in case he needed funds during the second
round financing.

Why was seed capital not given by Nirvana Vent whereas it was ready to
fund the second round financing ? Explain.

qur g
PART C

3T YT H 8 37 qIct 7 Y97 & | 37 F¥I &1 IR 100 Js5] 7 A |

This part contains 7 questions carrying 3 marks each. Answers to these questions
should be in about 100 words.

11. ‘ST 9IEW1 H 9REdd o 979k H &4 U, Ush 3eH 3T ohl YgAH i Hehdl
8, Td 39 GG b IMSTH YSiientul hl g T&H1 bl Wil Hehdl & adl ITHT hl
3TH <hl Bid HHIUl o iU TN 41 Hehdl & |7 THLATST | 3

“By keeping in touch with the change in the external environment, an
enterprise can identify opportunities and find strategies to capitalize on
the opportunities at the earliest and sensitize the entrepreneur and help
him to build image of his business.” Explain.

12. I 99 hl bl g9 dTcd 3794 I SFdH™ &hl UM & U 3T0d
3cATed T8 o1 | Hfh FaU™ 3 YBR ° TE o @ A1 H{d: I8 AT
TETREh SIaE™ AYGHET A8l =18l A1 | 394 AU IR 3EaHU bl @IS 3TRH
shl | Teh Te9 S 98 Ueh HISHTAT H SI9& ol WHT @1 & AT 394 HIleTeh <hl
IS H ITANT <hl ST ITeA] TATRECeh qT ATkl o aXd-l o HUeH H 371
Tl ohicdTs o food H &1 id §T AT | YSHIcHeh gISeshiUl B o HI0T I8
19 I el o [ faemedt o aR- § "redT 7 fomam | 394 39 fa=mr <hl
Il 94 U 9 1 8= 39 39 fo=9R & 919 A7 9&4 h g8 & i I8
fer=m weh aivrSores Hodt a1l 39T § 9iEidd & ST |

(31) 3| JfshaT hl UgaH hifore SaH Teh Ta=r a1 aTfurisaeh g diet 39T
4 gfafaa g affifad 2 |

(4) 39tk (31) 4 g9 hl T3 JishaT H GiHTId =2ehl 1 IgQ@ hIIT | 3
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Yash was not too keen to take up his family run business-making bamboo
baskets. As the business was not doing well, he did not want to take up
his family business. He started searching for new market opportunities.
One day while having food in a restaurant, he overheard the owner
talking about the difficulty 1n disposing the plastic and thermocol
crockery used in the restaurant. Being creative in his approach, Yash
started looking into various options of making bamboo plates which can
be used in restaurants. He discussed the 1dea with his father who advised
him to go ahead as this 1dea will translate into an application which has
commercial value.

(a)  ldentify the process which involves the translation of a useful 1dea
into an application which has commercial value.

(b)  State the elements involved in the process identified in (a) above.

13. 9T Ta=rerlt fR1edr o 3UU-d Yo + Teh AER Y9 Hlidena™d 4 Jasl fofn |
3G <heh Hehd H TATRTSEdT UTH 1 | 3TYAT UTSIshH UT hid oh Ug=Td 38 39
al T3l < |19 @S | Th Sohil <hl G HAFH <l | 3Gh! oM did H%d &l
T8 ek sheh Iod A dTcil ATHAT & ST SITd o |
gt O1g § YHA ohl §&T bl SFHIGH M aldl o1 a9l 3gehl Hrarsil 4 39
TG o TeT€ Weh oheh &M bl UG ThIAT | HA 4 Y4 = I 79I &84
S-Hfed ok U Ueh sheh ST |
gAd gl 3Hehl §I8q o 7T qA1 I8ehl gehd 9 SqTied TTididier shl Wehid <hl
Uga ehiluil agi-3g@ hitag | 3

Suman joined a catering college after finishing her schooling. She
specialised1n baking cakes. After finishing her course, she along with her
two friends started a bakery shop in Lucknow. Her shop was an instant
success as the cakes were produced with high quality ingredients.

In the month of November, Suman’s sister’s birthday approached and her
mother requested her to bake a cake for the birthday. Suman baked a

cake for her sister at their home for her sister’s birthday.

Identify and state the nature of activity performed by Suman for her
sister and at her shop.

14. A& HURO o HIAT 1 IFW HIWT | 3
HAAT
TI9UE T o1 &1 Y 3 ? $Heh dwdl ohl 359 ohilay | 3
State the rules for goal setting.
OR
What 1s meant by ‘marketing mix’ ? State its elements.
98 ¥ o &1
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15.

16.

17.

98

“Urehi o foru 3iferes STRNfAT ot 9T ITE 1 o & & oIy Jamm

JEII qAAT 1A T Teh gad hich UM (o) SAgdl g |7 Ig ISl g
39ATAT T qen fouvH gfties | 199 8 | hd, 3g@ shifay |

“Business adds value to goods and services by modifying them 1n a

particular way to create a new product for greater value to customers.”

This added value i1s different from financial and marketing perspective.
State how.

Teh Tafsrse @R a1y 1000 ToRIa-UTerd 9T sl Siaatl @l foshl Ear 8 | 3caTg
hl HITT THEY 7 | Ui Sidd @0 eI T 50 g | 9TNeh g AN shd ATd

HT 10% 2 | Sfd 3Tewr, 37ew @rd < 100 2 |
fafsrse e & e siaai it 3nfdes 31est 7w ki AT hifsu |

3Tt
Teh Uehs JATE A ! Tdeh&d i i JishaT hl THSTST |

A speciality store sells 1000 insulated water bottles annually. Demand
for the product 1s uniform. Purchase cost 1s ¥ 50 per bottle. Holding cost
per annum 18 10% of purchase cost. Ordering cost 1s T 100 per order.
Calculate the Economic Ordering Quantity of the bottles for the speciality
store.

OR

Explain the process for developing a cash flow projection.

S 11 %6 A9l o "YU AATq S o hI¥ GoH 7q @S- 70
$D A griicel T RAIfen Srewgehdd Bidl 8 | Th W& & g U™ fehegil
©: qIcdl Td I SMagehdiatl sl 3g@ I |
HAAT

TSI iy R UTHU Tk Sk & feheal diF Torehr@Tedeh il qA1 foheal diH
e I 1 3gQ hifT |

In addition to the benefits to going public, i.e. bringing public issue to
generate funds for the organization, there are many additional

obligations and reporting requirements. State any six such obligations
and requirements for an organisation.

OR

State any three development functions and any three regulatory
functions of National Bank for Agriculture and Rural Development.
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UM @
PART D

3T YT H 4 37% Tic7 4 97 & | 37 J91 &7 I 150 3151 F T |

This part contains 4 questions carrying 4 marks each. Answers to these questions
should be in about 150 words.

18. ‘TEHSH Hihl HEHl Teh ST SUE & &9 § faepfed &1 T8 g | foga i
Ty FS! hih! BHH HUH! B4 o ATd I I I [Ehle SATGHTRIS TadadH
4 TR Agcd 9gH Hdl Wl 8 | S, AT YA ST9K H Ja9T ST argdl
2 | fr & @ dfat 3ga d gU S Sl TSAfes, STk, TR, dehHiehl,
fafersh U1 GITaRuily TAYAT 1, 39 bl aAT Tidepad RFEATTT hT1 HoTehd
hITSTT TSHeRT €19 ShFaT bl WA STAR | 9a9 o folq a1 g |
1991 ¥ & YRAE TYTSEAT H hs HhNcHeh 3M(Uh YUN gY & =8 fagell
AT o ToTT Teh A=D1 BRI MO0 309 & T 8 adr a9 fogsh
fTaSTehl I <N T A € hH hET 999 8 T & | YR § THE TsTIaedT
1 TIH H TWd gU, AIRRITE! hl AT IAT TaGeil Tcq& Hawr o =01 qe
fafma 38 Tt YRd | T G 3TH b HIEIH § Yo Al 3751 8
AT Ueh HRAT ShEdsl o 1Y WHITdeh STTUR W 3EET ST GHTed Tl {deh
d919 H UfqUe YH s Goh | 39k Jfdih 39 JqdE Ifqaiir=n 9 H.H.E,
ST 3cATe | e g 1 AHAT ST IS Tehdl & | $Hh I [dRTSe it
<hl Sgdl G, TSEERI 0T Fedl g3 ikl G&hid adT fowa | dgdl g3 Hed A0l
T I dgH 1 SO B | 39 H% H Tareey A4l UTghl ! hNd Hd &
foTu 39k U@ 3714 Teqads 3G i T&IT dgH ol i 7qT 8 | Hih!
foREMI gRT 39N <hl T3 A3 TRl T AT hFu-] s I8 {91 3Mqfd
TEAT AT @ bl Wl EEL 8 | Y=g O H ITAN ! SH Tt TeIferee Kl
wefiAl bl el g5 IUTeHdl o hUl FTHE $Heh IUTGl o Toehed hl A=
¢ Tohdl 8 HEIH] hl AUl B Thdl & | Al 7 T SAGAL 3G ol
U hU QohfoT | UEATd ot shl I oft &1 Wl B | uiq o
forehreeficl <3N § sigd 8¢ U w386 #iHeh TSR hl Y5 o foi@ @aq

JUT W E B | 4

"Tastebuds Coffee’ Company has grown to an international brand. As the
world’s biggest coffeehouse company, it continues to lead the industry in
sustainable business and mmnovation. Now, the company wants to enter
the Indian market. Quoting the lines from the following, evaluate
favourable and unfavourable conditions i1n the country’s political,
economic, social, technological, legal and environmental setting that the
company should consider to enter the Indian market.

98 2 P. T,
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19.

20.

21.

98

The Indian economy has been subjected to a series of positive economic
reforms since 1991 which had created a better working environment for
foreign companies and has made it possible for foreign investors to
operate in the country more easily. Taking into consideration the polity
in India as a whole, the bureaucracy complications and the regulatory
FDI controls and regulations, it 1s safer for it to enter India only via a
joint venture or a strategic alliance with an Indian company that can
provide a buffer from possible political tension. Furthermore, it can face
some opposition from the existing competitors like CCD, Barista, etc. It
has opportunity to increase its revenues based on increasing demand for
speciality cotffee, which 1s due to a growing coffee culture and a growing
middle class around the world. Also, the company has the opportunity to
widen its array of more healthful products to attract health-conscious
consumers to 1ts catés. The company also has the opportunity to improve
its supply chain efficiency based on new technologies used by coffee
farmers. However, the rising availability of home-use speciality coffee
machines 1s a threat to the company because 1t increases the availability
of substitutes to its products. The company also has planned to offer most
of its products in recyclable packaging. However, increasing employment
regulation; especially in developing countries, threatens its access to the
labour market.

“3TeT Teliereh 3TfEdca T T HgL o 1Y Teh hedH! i Hfh & Ted i
i b HiHT FFH 1Y |7 HHSATSY |

“A company is an artificial person with separate legal entity and common
seal but with a limited scope of action.” Explain.

T3S TUSid o H&F dcdi ol THHTRY |
AT

faer qen YU & fehral =R RO hl JHEATST |

Explain the main ingredients of a franchise agreement.
OR

Explain any four reasons for mergers and acquisition.

JushA Uoil fad’ & orayg § yreedt foiem fedfa’ ot amese |
T
TS ek i Tehral IR ToRINAT3l sl THTST |

Explain ‘early stage financing’ with respect to ‘Venture Capital Finance’.

OR
@
&collegedunla;
India’s largest Student Review Platform

Explain any four features of ‘Angel Investors’.
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" g
PART E

3G YT H 6 3% FIct 3 F97 & | 37 F¥I &1 It 200 iG] 7 Fow |

This part contains 3 questions carrying 6 marks each. Answers to these questions
should be in about 200 words.

22. TGETE @ Hidal o fIedshR 3WAg Hee hl AMR Hal H Th &id ot o™
9% Yidel | &9 3IcUTal hl TERId L @1 AT | 98 |igl shl U1 9 & Hh &8
Bl o THA dYT AY-RISH SHAT AT S=dl & | I8 AT hl 37<s! TldlshATd qTH
g AT {dell SFeHTRl | yudrs Hi el | 98 U Eisd s § Th 3=l
T 3opTs T SgerT aTgal @ e didetehRt o 919 | SIHT SITWT | 36 fold
34 3ITH ] U qYT 74 39 b ¢ T Ifdeigar sl - hl HATa9Tehdl

2 |
3o+ Tty Terrar & e 291 S & arush fohan | yeges 3 369 g eeqas O |

[. Ueh SHUsh G&ATe el 3TH & i | GiHlcld T 91 el dawl
1 UM BT |

[I. ~ 39U<h GEdles! o1 Ueh 3U-UTT I Ja¢eh o = Y1 I TS DU :
(i)~ 3TE & HIYl o o Toafi= giErataai 4 Sy fohan S 2
(i1)-sish R0 o AfdRh 3WIAE Heel gRI IUAM fohU M dTet fad o
3 | T 2
(iii) TE SIS T SFTTATHT 1T FIT & ?
(iv) 3ohls <hl Pl TN qom TR &N sl qU & % U
forsha bl fehc{l STTarwarehar gril, $EehT MURT 3famg Heol hd
AT ?
IS T YT T TI5C I &4 o oAU R Hoe] ol 31 ST dIR i U |
(%) AUk TEATAS hE A0 T JHT ITdT 2 ?
(@) 3Tfoe Hod] hl SATeh GEATSS Shl hiH-HT IU-HNT dIR AT IS 2

()  TEYGH o Tl DI G B o [aL IW(A<¢ Heol g1 for@ M aTa
ek &I o IU-HTT o [afYe awl <hl U= shitold deT YHEATST | 6

98 11 P. T,

@
&collegedunla;
India’s largest Student Review Platform

—




98

Arvind Mallu, a brass artesian from Moradabad had a stall in the “Trade
Fair’ showcasing his range of products made of brass. He manufactures
and sells from saree pins to big flower-vases and lamp-shades. He got
good response from the public and even enquires from foreign
businessmen. He wants to switch from an unorganized unit to a
well-planned unit which would be called ‘Peetalkari’. For this he needs to
know the {feasibility of the enterprise and the potential financial

commitments for the new venture.

He approached Dena Bank for financial assistance. The manager asked

him for two documents.

I. A comprehensive document that describes the external and

internal elements involved 1n starting his enterprise.

II. A sub-part of the above document that will satisfy the following

queries of the manager :

(1) How will the funds of the enterprise be invested in different

assets ?

(11) Apart from bank loan, what are the other sources of finance
that Arvind Mallu would use ?

(111) “What 1s the projected profit for the new unit ?

(1v)~ How will Arvind Mallu determine the volume of sale
required to cover the total variable and fixed expenses of his
unit ?

Arvind Mallu had to draft the two documents clearly stating the answers
for the query raised.

(a) By what name 1s the comprehensive document known as ?

(b)  Which sub-part of the comprehensive document 1s to be prepared
by Arvind Mallu ?

(c) Identify and explain the different components of the sub-part that
Arvind Mallu 1s required to write in his comprehensive statement

to satisty the queries of the manager.

12
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23. I GUWU[ Tl Teh YTAH hl A dTedl JbR g e Gyiiad Argehl =l ITaiim=
oh 3cUTEl hl BISH BH b Il dAT Y137 bl =¥F i oh 7@ YT femam
STl & | STod Yidishard adi 919 skl ST Hehdl & 99 S8k A9 o |l T

S TedT AU |

(%) ITIE H AMVId TR o Tohral gl Ie3AT bl 3P@ hiT |

(@) o ®H-H gfafskamd § R U 1 T8 TR I8 T g ?

() 39 G1EAH W GUNUT 1 AN i o ol 77EXr fohu SIH aret =i =l
HHHATRY | 6

COC

faehtd 1 ®edl o T sl ¢HI A A0 I Th W aR ol @ 98 hadl Sifdeh

Gfesr Il dA1 ®ell & ™ d=dl AT | Rifeh 4 TEI bl THdH dehrlehl d qUI T

% g oo [aIYdl o 919 THehlall STal o1 3fd: o Tl 9 | 39 i o fafEne

UTEh o | SHIEE o fokdR o foiu faehm® 4 A fereriHiet it aftfa 4 gi= U

3ot 3R & fohU | Tft 313cete fhw & IRl W o | T Icred i

TUTaT qYT HEAT bl A9 1 Tegfd ° &1 o1 | 3Ad: 98 SEdrtad el o foid

UTgehl H SACHIAYATE Icqd &1 kL U1 | BTl dl Hisordl 1 Fal IUFNT &1 &l

1 W@ A SHY AYIT §¢ T | 9 3T3ciel H fashy "¢ W qem ug

Trldeee T § A Il T | 39k JiAr SH-319 | faem R Sdtiad

ST bl SEAT ST STl HH Hod T SdTed i | 38! S gy o fase A

39 UTEHh-HGR bl U HT hlg IIcA ol (hAT |

TRUMTHEEEY T a9 o 3T-qL & 9T T T 38 it S: 332l 9¢ Hid U8 |

I9Yth Aoos d Uihdl Igd hid §C Tohid & SFaH™ % IEHA &H h (ol

IR N Sl T8 HIfTT a1 3= THEATST | 6

This 1s a paid form of communication designed to persuade potential

customers to choose a product or service of the firm over that of a
competitor. The desired responses will only be elicited when the rules for
1ts planning are considered.

(a)  State any two objectives of the above mentioned concept.
(b)  What are the responses that this form of communication elicits ?

(c) Explain the rules that are to be followed while planning any
communication through this mode.

OR
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Vikas owned a fruit juice bar by the name of “Tammy Juice’ where he sold
only organic range of vegetable and fruit juices. As these juices were
extracted by state-of-the-art machinery with hygienic methods therefore,
they were expensive. Such juices had a specific clientele. For expansion of
the business, Vikas opened five more outlets within a radius of three km.
All the outlets were 1n rented premises. Vikas was not in a position to
measure the quality and quantity of production. Thus, he could not create
the confidence 1n the customers with the quality offered. The fruits and
vegetables were not being properly used leading to wastage. Sale in all
the outlets reduced and slipped even below the breakeven level. His
competitor ‘Juice-Up’ introduced the same range of juices as offered by
Vikas at a lower price. In spite of this fact, Vikas did not make any
attempt to improve his customer base.

As a result within a year, he had to shut all the six outlets with huge
losses.

Quoting lines from the above para, identify and explain any four reasons
for failure of Vikas’s business.

24. T 15,00,000 =TT ek AT 4 THS hl doe AT TH o IcdIEH hl Ueh I
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qTieeh foshd 3TMH T 6,00,000 AT &9 T HIA bl AT @fd T 2,50,000
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Selifere Urgde fafiee’ 9 a9 0@ & feosR v - faem, U, el s9H
1 SAIEE A ThdT | 9 FEAT | HFoHT o ToTT seprsdl § Efo=sg g
h! TUHET ShIFSTT TAT IZW hifoU foh hiH-Hl TR ATeh T 3Sd hLdl & |

Tt Ard T 15,20,000 2 6
ferarom frem iig EEISES]
fasha g (T) 800 450 600
iEaRne arma (T) 400 150 200
ICERREP) 50% 20% 30%

Mohan started his business of manufacturing leather belts and wallets in
Kanpur in the name of ‘KEssentials’ by spending I 15,00,000. He invested

X 8,00,000 of his own money and took a loan of ¥ 7,00,000 from Dena
Bank @ 7% per annum. His monthly sales revenue 1s ¥ 6,00,000 and
monthly cost of goods sold 1s ¥ 2,50,000. He pays a monthly salary of
X 50,000 to his employees. Monthly maintenance of machinery 1is
X 15,000. Electricity and miscellaneous charges per month are < 10,000.

The tax rate on profit 1s 12%.
Calculate the following :
(a) -~ Return on Investment
(b) .~ Return on Equity

OR
‘Breezolit Pvt. Ltd.” started a business of making three varieties of
designer fans — Vitara, Grand, Quadraflow. From the {following

information, calculate Breakeven point in units for the company and

state which variety 1s most revenue generating.
Fixed costs are < 15,20,000.

Details Vitara Grand Quadratlow
Sale Price (¥) 800 450 600
Variable Cost () 400 150 200
Sales Mix 50% 20% 30%
15
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